Scre 1115 Suite		AY+ 8th Street South 3o, ND 58103	Sch Ad Ag Pro Bra Sal Sal Sal Du Pho CPl Acc Bill	ontra nedule Dat vertiser ency oduct and esperson es Office yer Name one/Fax E count Type ing Type mments	es	91315 04/16/24-04/22 Tester for Sena Screen Strategi POLITICAL MT Political (1024) Jen, Gion (1006 WDAY / 9120 National/Politica Standard 4.16-4.22.24 30	5)	lia (1 24 (124	49)				Date En Last Mo Entered CO-OP Externa Demo Order T Package Commis Commis Net Tota Sales Ta	dified I By I # ype e Deal ssion % ssion	04/11/24 04/11/24 Jennifer Gion No Normal 15.00 \$329.25 \$1,865.75		Bismarck-Min By Broadcast M Apr. 2024 Grand Total:	-	MY+) <u>Spots</u> <u>35</u> <u>35</u>	<b>R</b> \$2,195. \$2,195	
Line	Line Type / Break Type (Ref	#) Dates	Sec	Length	F	Run Times	SPW	Мо	Tu We	Th	Fr	Sa Su	J Spots	Rate	Total		Station		Comment	s E	ntered
1.0	Normal Line / SPOT	04/16/24-04/19/24	1	:30	7A- 8A (C	ST)			1 1	1	1		4	\$40	.00 \$160.0	0 Bismarck-N	/linot (KBMY+)			4/1	11/24
2.0	Normal Line / SPOT	04/22/24-04/22/24	1	:30	7A- 8A (C	ST)		1					1	. \$40	.00 \$40.0	0 Bismarck-N	linot (KBMY+)			4/1	11/24
3.0	Normal Line / SPOT	04/16/24-04/19/24	1	:30	8A- 9A (C	ST)			1 1	1	1		4	\$40	.00 \$160.0	0 Bismarck-N	linot (KBMY+)			4/1	11/24
4.0	Normal Line / SPOT	04/22/24-04/22/24	1	:30	8A- 9A (C	ST)		1					1	\$40	.00 \$40.0	0 Bismarck-N	finot (KBMY+)			4/1	11/24
5.0	Normal Line / SPOT	04/20/24-04/20/24	1	:30	6A- 7A (C	ST)						1	1	\$20	.00 \$20.0	0 Bismarck-N	4inot (KBMY+)			4/1	11/24
6.0	Normal Line / SPOT	04/21/24-04/21/24	1	:30	7A- 8A (C	ST)						1	1	\$40	.00 \$40.0	0 Bismarck-N	Ainot (KBMY+)			4/1	11/24
7.0	Normal Line / SPOT	04/17/24-04/19/24	3	:30	9A- 10A (	CST)			1		1		2	2 \$15	.00 \$30.0	0 Bismarck-N	Minot (KBMY+)			4/1	11/24
8.0	Normal Line / SPOT	04/18/24-04/18/24	3	:30	10A- 11A	(CST)				1			1	\$15	.00 \$15.0	0 Bismarck-N	Minot (KBMY+)			4/1	11/24
9.0	Normal Line / SPOT	04/16/24-04/16/24	1	:30	11A- 12P	(CST)			1				1	\$40	.00 \$40.0	0 Bismarck-N	4inot (KBMY+)			4/1	11/24
10.0	Normal Line / SPOT	04/22/24-04/22/24	1	:30	11A- 12P	(CST)		1					1	\$40	.00 \$40.0	0 Bismarck-N	4inot (KBMY+)			4/1	11/24
11.0	Normal Line / SPOT	04/17/24-04/19/24	3	:30	12P- 1P ((	CST)			1		1		2	2 \$10	.00 \$20.0	0 Bismarck-N	4inot (KBMY+)			4/1	11/24
12.0	Normal Line / SPOT	04/16/24-04/18/24	3	:30	4P- 5P (C	ST)			1	1			2	2 \$15	.00 \$30.0	0 Bismarck-N	finot (KBMY+)			4/1	11/24
13.0	Normal Line / SPOT	04/17/24-04/19/24	2	:30	5P- 5:30P	(CST)			1		1		2	2 \$20	.00 \$40.0	0 Bismarck-N	Minot (KBMY+)			4/1	11/24
Accepted	CONFIRMATION CONTRACT         Accepted-Agency/Advertiser:       Date:         Date:       Accepted-Station:         Date:       Comments:																				

Forum Communications does not discriminate in advertising contracts on the basis of race, ethnicity or gender.



KBMY+ 301 8th Stree Fargo, ND 54	et South 8103	Contract a Schedule Dates Advertiser Agency Product Brand Salesperson Sales Office Buyer Name Phone/Fax CPE Account Types Billing Type Comments	<ul> <li># 91315 04/16/24-04/23 Tester for Sena Screen Strategi POLITICAL MT Political (1024) Jen, Gion (1000 WDAY</li> <li>/ 9120 National/Politic Standard 4.16-4.22.24 30</li> </ul>	ate (832 ies Med Senate 6)	dia (1828 e (1249)	3)			Date Enter Last Modif Entered By CO-OP External # Demo Order Type Package D Commissic Commissic Net Total Sales Tax	ried ( y - t t beal on % on	04/11/24 J4/11/24 Jennifer Gion No Normal 15.00 \$329.25 \$1,865.75		Bismarck-Mind By Broadcast Mc Apr. 2024 Grand Total:	. ,	<b>Ra</b> \$2,195.0 \$2,195.0	0
Line Line Type / Break Type (Ref #)	Dates	Sec Length	Run Times	SD/M	Mo Tu	We Th	Fr	<b>S</b> 2 <b>S</b>	Su Spots	Rate	Total	1	Station	Comme	atc Ent	tered
	16/24-04/16/24		6:30P (CST)	JEVV	1			34 3	1	\$50.		Bismarck-M	inot (KBMY+)	Commen	4/11	
	22/24-04/22/24		6:30P (CST)		1				1	\$50.			inot (KBMY+)		4/11	-
	20/24-04/20/24		6:30P (CST)		1			1	1	\$50.			inot (KBMY+)		4/11	
			0.50P (CST) IP- 7P (CST)			1		1	1	\$100.			inot (KBMY+)			
	17/24-04/17/24		. ,		1	1			1	\$100.	-		inot (KBMY+)		4/11	
, ,	22/24-04/22/24 22/24-04/22/24		IP- 7P (CST) 9P (CST)		1				1	\$100.			inot (KBMY+)		4/11	
			8:30P (CST)		1	1			1	\$125.	· · ·		inot (KBMY+)		4/11	
	17/24-04/17/24		. ,			1	1		1	\$125.						-
	19/24-04/19/24		8P (CST)				1		1		· · · · ·		inot (KBMY+)		4/11	
	16/24-04/16/24		- 10:35P (CST)	+	1				1	\$70.			inot (KBMY+)		4/11	
	22/24-04/22/24		- 10:35P (CST)	$\left  \right $	1				1	\$70.			inot (KBMY+)		4/11	
	20/24-04/20/24		- 10:35P (CST)					1	1	\$50.			inot (KBMY+)		4/11	
25.0 Normal Line / SPOT 04/	18/24-04/18/24	3 :30 10:3	35P- 11:35P (CST)			1			1	\$5.	uu \$5.00	Bismarck-M			4/11	./24
25.0 Normal Line / SPOT       04/18/24-04/18/24       3       :30 10:35P- 11:35P (CST)       1       1       \$5.00 Bismarck-Minot (KBMY+)       4/11/24         CONFIRMATION CONTRACT         Accepted-Agency/Advertiser:       Date:       Accepted-Station:       Date:       Comments:																

Forum Communications does not discriminate in advertising contracts on the basis of race, ethnicity or gender.

			CON	FIE	RMATION CONTR	240	Т			
Accepted	d-Agency/Advertiser:	Date:	Accepted-St			0.10	Date:	Comments:		

Forum Communications does not discriminate in advertising contracts on the basis of race, ethnicity or gender.

Terms &	Conditions							
	1							1